FEFEFOILFEILILILILILILIEIEIEIFLIEF0IEILILILILILILIEILIEIEIFEFEF0ILILILILILILIELIEIEILIEIFLFEI0ILILILILILIEIEIEIEY
SUBJECT CODE SUBJECT PAPER

dtdo

\>leaelopelopolopologelogelogologologelogelogologologelogeogologologelogelogologologelogeogele)

A-03-03 COMMERCE 1]

HALL TICKET NUMBER QUESTION BOOKLET
NUMBER

OMR SHEET NUMBER

DURATION MAXIMUM MARKS ~ NUMBER OF PAGES  NUMBER OF QUESTIONS
2 HOUR 30 MINUTES | | 150 | | 24 | | 75

This is to certify that, the entries made in the above portion are correctly written and verified.

o aWo aWo aWolaWo aWo aWo aWo a¥We oW aWo aWo aWe aWoaWo aWo aWeaWo aWo aWe aWo aWo oW aWo aWo aWo aWo aWo aWo aWe a¥Wo aWo aWe a¥Wol

Candidate’s Signature Name and Signature of Invigilator
Instructions for the Candidates SELROD S

1. V¥;ir§_e your Hall Ticket Number in the space provided onthetop | 1. 5 560 2 aritod® ggeds 008" Do 1556 3865 owth Traod.
of this page. e - " .

2. This paper consists of seventy five multiple-choice type of 2. Bs O B0 BPRG> BTUFS EHEw SEA cod.
questions. 3. 30F @O0 B FTHBB0 D0 FILCEIBI0R. DaEES 25

3. Atthe commencement of examination, the question booklet will QRIS B (HTHHEBR DOD Soii BOVD woTeH> HHRLOM
be given to you. In the first 5 minutes, you are requestedto open 0Bl

the booklet and compulsorily examine it as below : (i) oo @8 SEs0ts Bramdd $5%8 wobod &) SABY beodo§

(i) Tohave access to the Question Booklet, tear off the paper Dot5od. 35,6 Seodd B8as 3856 BOD & @mb@émmi
seal on the edge of this cover page. Do not accept a booklet 555 oABOBESS,
without sticker-seal and do not accept an open booklet. e

Rough Work is to be done in the end of this booklet.
If you write your name or put any mark on any part of the OMR

®© N
I

5% DPB0 S gAY BrBBets g Bevod.

the booklet with the information printed on the cover Bogpgo Ho0aUn (B Hopgss HOBFRSed. bl Voo §
page. Faulty booklets due to pages/questions missing Sowofed M Top BrRes Bopd® B S5 T o &

or duplicate or not in serial order or any other ERHe T B0 Eoonsast ésgss;@@ S R Brenotioss
discrepancy should be got replaced immediately by a b ERgrOBAS 3% ;3@—;@& BoesS BootseS oo G wigd
correct booklet from the |n\_ng||ator W|th|n_ the period §é§3§§)3§ BN RO T3 eatisear SO &, (e Sed. 4
of 5 minutes. Afterwards, neither the Question Booklet B OB (S ES00 STl Sy A“;ﬁa o0 Bl g
will be replaced nor any extra time will be given. o0Ce PRk DELCD Bloded) © Fongeateco. g
(iii) After this verification is over, the Test Booklet Number (i) 3 Desore SBuErFETY BoS TR Hopyss OMR SEso 24
should be entered in the OMR Sheet and the OMR Sheet etsorr OMR 35 oyt &2 TpEin 2 A8pgeos” Tabsd. ¢
Number should be entered on this Test Booklet. 4. 5O EEHD0 Teold ETETon Bayocsven (A), (B), (C) s00axke (D) §
4. Each item has four alternative responses marked (A), (B), (C) QI FRGTON. FAEHD FPS BAHOES MIRE 3065 BV Hgor 8
and (D). You have to darken the circle as indicated below on the OMR 5@5008° (08 (377 Bopgdd g8wds Treo Syznd’ ©9 5 8
correct response against each item. BIoEHD BN BT oS oot PSS dods BOBS §)<§oﬁ°§
Example: @ ‘ @ Ir80wd. d
where (C) is the correct response. aaRRdes : @ ‘ @ E
5. Your responses to the items are to be indicated in the OMR Answer (C) 5% @80 wond g
Sheet given to you. If you mark at any place otherthaninthe | 5. B5p% ESHEKED B2 PHBBBNE 395¢d OMR SEB50 8 8
circle inthe Answer Sheet, it will not be evaluated. e ;Q)@;efg FB0D HBOTY. WEPSE ITEE HHow I T §
Read instructions given inside carefully. 15T D> BSOS SoTerso Do, g
&
8
&
&
&
&

FoYaWolaWalaWolaWolaWolaWolaWolaWolaWolaWolaWalaWoloWolaWo aWolaWolaWolaWo aWolaWolaWolaWolaWe aWolaWolaWolaWe aWolaWolaWolaWelaWaolaWolaWolaWolaWolaWolaWolaWolaWelaWolaWolaWolaWelaWolaWolaWolaWelaWalaWolaWolaWolaWalaWolaWolaWolaWaelaWolaWolaWolaWelaWolaWolaWolaWelaWolaWolaWolaWelaWalaWolaWolaWolaWalaWoalsl

rAneg P s s i = i i P s i = s o i i i e = s i i = i = Y = i = Y =

Pe Rt A A Ao oA eanlepelepelopelepgolopelopelepolegolopelogelegolopelogelogolegolopelopelepgolopelopelepgologologelogelegolopelopelegolopelogelogelepolopelopelepologolopelogelegolopelogelegolegelogele]

H
H
H
H
H
H
H
H
H
H
H
H
H
H
H
H
H
H
H
H
H
H
H
H
H
H
H
H
H
H
H
H
H
H
H
H
EN
(i) Tally the number of pages and number of questions in (if) 680 22 3 BooRoN BTV BTV T+ FERERHER wdo EE
H
H
H
H
H
H
H
H
H
H
H
H
H
H
H
H
H
H
H
H
H
H
H
H
H
H
H
H
H
H
H
H
H
H
H
H
H
H

0PQ.0Q. Fo%el
©000 000" OTJOC OO DI BI BT DI DI BT OO DI BT DU DI BIOC DI BJOC DI DI BC DI DI BT OC DI BJOC DI DI DI DI DI BT OO DJBIOC DI DI OO DI DI BT DU DI BIOC DI DI OO DI DI DI DO DJBI OO DI BI VO DI DI BT DI DJ BT OCOJ BT OC LI LT O

Answer Sheet, except for the space allotted for the relevant 7. DB @ERPB0 3G JS %@’2“68 3017»@.9
entries, which may disclose your identity, you will render yourself | 8. OMR 23500 3 258 pood’ 3rrloiltod Jnomes ol 388 good”
liable to disqualification. 20 K90:%0 B gorr Ho Bk Traheso R o 3BE Vs eyko
9. The candidate must handover the OMR Answer Sheet to the e DBE000B Do BBEHH A0 TEEHT.
invigilators at the gnd of the gxamination cpmpulsorily and| 9. :aég\ oo BT Do OMR B(@eR) B8 :nég g,ggggg&,&g 7750. §
must not cgrry”n with you k()utSlde thhe Examination Hafll. TNTS %30 50 M0 20505 SROIFETE. 305000 BET wektieo 8
candidate is allowed to 'ta e away the carbon copy of O 5%, 5T, OMR 50 Bt 505 =59 @mgﬁo;m@. 8
Sheet and used Question paper booklet at the end of the - - ¥y e &
examination. 10. 29/ bei @8 o200 8 HFEH ENBTERACTD. g
10. Use only Blue/Black Ball point pen. 11, oroghs Heody, @%@ebes, DoTRE $OTee BN $8yras’s
11. Use of any calculator or log table etc., is prohibited. ESGIrRonEe Vg 8
12. There is no negative marks for incorrect answers. 12, By ST S350 dick) B&o. §
n
I X 1 -03-038
Q-LQLPQLALQLALALALALALALALALALALALALALALALALALALALALALALALALALALALALALALALALALALALALALALALALALALALALALALALALALALG
dbdbdbdbdbdbdbdbdbdbdbdbdbdbdbdbdbdbdbdbdbdbdbdbdbdbdbdbdbdbdbdbdbdbdbdbdbdbdbdbdbdbdbdbdbdbdbdbdbdbdbdbdbdbdbdbd







1.

COMMERCE

TR0
Paper -l
058 =1

1. 56 OMOF 9T0e30R PHIe3ssn SEOREO

The following Accounting Standard deals
with depreciation accounting :

(A) AS-2 (B) AS-4
(C) AS-6 (D) AS-10

The Accounting Standard-17 which deals
with accounting for leases is applicable
to the lease agreements.

Statement-1: To explore natural
resources such as oil,
gas, minerals, etc.

Statement-2 : To use land

(A) Both S-1 and S-2 are correct
(B) S-1is correct and S-2 is false
(C) S-1isfalse and S-2 is correct

(D) Both S-1 and S-2 are false

A building was purchased in 2007 at a
price of Rs.16,00,000 when the general
price index at that time was 150. The
converted value of the building in current
rupees on 30" June, 2014, if the index
stood at 300, is equal to

(A) Rs. 30 lakhs (B) Rs. 32 lakhs
(C) Rs. 34 lakhs (D) Rs. 36 lakhs

For calculating market value, using P/E
ratios, it is necessary to know

(A) Rate of Dividend

(B) Average Profits

(C) Market price of the share
(D) Earnings per share

5020080008
(A) AS-2 (B) AS-4
(C) AS-6 (D) AS-10

. P00 @93P030R080 Do0HoWS wToeIond

@PHE3ER00-17 B2 &MD T00 2o
5805,

JoBE =11 579, TPAD0), AL D55°es $SO©
DABIS0

JROE =2 1 g EBATRB0

A) D36E-1 5000K0 IDOE -2 Vo HOARK
B
C
D) 92651, J2HE-2 B0 0GB 5%

JROE-1 00AHG, IDHE-2 HOGKE 57

(A)
(B)
(C) J20E-1 0010 5°¢0, IDOF-2 HOALBE
(D)

. e gi5ody 2007 &, o So ©r0150

ENNNCE, 8716 050 Sondh. 30-6—-2014,

2020 300 oG €5 21955 S1OG e

(A) &>. 30 oo (B) &>. 32 o0

(C) &. 34 ogeo (D) &. 36 ogeo

- /3 AYPBIOSO GIATADT, $5I0) €00 DI

@§bo{w€3§3 B8 QMDD WOBR0D e9INIBI0.
(A) &0 Bew

(B) erero Hie

(C) e 5370, 56

(D) orer esQB5
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5. Economic Value Added (EVA) as a better 5. 000 it es:98589 o80T Ereieaced €508 oo

measure of divisional performance can be &) 0t DY
calculated by _ (3) 550y BETE I6 5630 e,/ 280
(@) Net operating profit after tax / Total 55500

assets

(b) (Net operating profit after tax) — (Cost
of capital x capital invested)

(c) Capital Employed (Return on
Investment — Cost of capital)

(d) Net profit after taxes / Capital
employed

(A) ‘@ and b’
(C) b’ and ‘¢’

(B) ‘@’ and ‘¢’
(D) v’ and ‘d’
. Mutual Fund which aims to provide growth
and regular income, and such incomes

invested both in equities and fixed income
securities is termed as

(A) Growth Fund

(B) Income Fund

(C) Balanced Fund

(D) Sectorial Fund

. The first Indian rating company, which has

established guidelines and standards for
credit rating in India is

(A) ICRA (B) CARE
(C) CRISIL (D) Fitch India Ltd.

. Match the following :
1. Fitch India Limited a. Custodian of

securities

2. SEBI b. Depository
services

3. CDSL c. Credit
Rating
Services

4. SHICL d. Regulator of
Capital
Market

(A) 1-a, 2-b, 3-d, 4-c

(B) 1-d, 2-b, 3-a, 4-c

(C) 1-b, 2-c, 3-a, 4-d

(D) 1-c,2-d, 3-b, 4-a

(b) x50y B D3 e5:58e30r0 oo — (TedsS
HEOI0 X BTG 0eNedct)

(C) DAAITACID BoTeESSo (Wegerds P T°excs —
S0T0ER $50000)

(d) B89 BTG TG Teo/IVBPAOIS
PS80

(A) ‘@’ 50805 D
(C) b S8 ‘¢

(B) ‘@’ 5080%» ‘C’
(D) b’ 080 ‘d’

. Zﬁafgbobeg PO, T eSTPAIeRD -S-4&ed 00akh

206 estrat 287506308 eped 263 90 Sodako
E0 TP B TPI)

(A) DB Pocd @ocsad
€3T°0N0 PO WOLOED

. BOGOXTS’ Bden BedoMsy SrYEEseD,

3T RESEDR 20esd 7S Bedord o2

(A) ICRA (B) CARE
(C) CRISIL (D) Fitch India Ltd.
RN ot e o
1. Fitch India Limited ~ a. 2&geedo
SFEDS
2. SEBI b. &Jme2ed wiseo
3. CDSL C. B Bedond
FNSY)
4. SHICL d. Beped
X)J"Bbéao
X)oi)o@ésaéog
(A) 1-a, 2-b, 3-d, 4-c
(B) 1-d, 2-b, 3-a, 4-c
(C) 1-b, 2-c, 3-a, 4-d
(D) 1-c,2-d, 3-b, 4-a
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9.

10.

11.

12.

13.

An order to sell a specified security when

its price declines to a stated price is known
as

(A) Stop-Loss Order
(B) Limit Order
(C) Open Order
(D) Fill or Kill Order

An unofficial trading after the normal
trading hours of the stock exchange is
known as

(A) Insider Trading

(B) Speculative Trading
(C) Kerb Trading

(D) Forward Trading

A system involving suspension of trading
to curb excessive speculation in the stock
markets, applied by the stock exchange
authorities is known as

(A) Trading suspension
(B) Trading closure

(C) Kerb Trading

(D) Circuit Breaker

The term ‘Sweat Equity’ means the equity
shares issued by a company to its

(A) Existing shareholders
(B) Creditors

(C) Employees

(D) Suppliers

The Securities and Exchange Board of
India (SEBI) was set up in

(A) January, 1990
(B) February, 1991
(C) April, 1992
(D) June, 1994

9.

10.

11.

12. <

13.

2.8 PET0 U A0R FOKH BASHNED, &
03 @505 essth Doded

(A) Stop-Loss esgoo

(B) Limitessess

(C) Open esgso

(D) Fill or Kill esgses

T EyDosS® Jrprdey STF VB00%0
QOO BBIT%E 23RO WHYSE 5T

(A) @0BFE 5FE300 9005

(B) &350y 55500 €055
(C)

(D) 76 55 $E5500 @008

36) 585520 @005

T Do wRTGoes, 370)e5S° e
2E05BS9 AoLoGoestDd, Sy TEm, dsorr
Qe DO DS
(A) E3G0m S8 €0t
(B) €comd Sexs> 905t
(C) 3§ €3G0 esotintd
(D) 650518355 oty
20505 Be85ed ST 5000 Seded Trerely
5008 TITHOLK 2370 Do
20ENTHBOE 2370 DOXNE
& 0o erd oo
00T 20 Do

(A) ¢
(B)
(C)
(D)

?0@56@363 Eydodf £ &b goda (SEBI)
K\J‘;ﬁé

(A) 558, 1990 &°
(B) 06, 1991 &°
(C) H&F, 1992 &°
(D) e~5, 1994 &
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14.

15.

16.

17.

Statement - 1: Operating Lease is
usually for a longer
period of time as
compared to financial

lease.

Lessee can claim
depreciation on asset
acquired through lease
agreements.

A) Both S-1 and S-2 are correct
B) S-1is correct and S-2 is false

Statement-2:

(
(
(C) S-1isfalse and S-2 is correct
(D) Both S-1 and S-2 are false
Beta is a measure of

(A) Total Risk

(B) Unsystematic Risk
(C)

(D)

Systematic Risk
Unique Risk
This concept holds that consumers will

favour products that offer the most quality
performance and innovative features :

(A) Product concept
(B)
(C)
(D)

D) Marketing concept

Production concept

Selling concept

The forces close to the company that affect
its ability to serve its customers is known
as

A
B
C

D

External environment
Internal environment

(A)
(B)
(C) Micro environment
(D)

Macro environment

14.

15.

16.

17.

ééoe;mééﬁom eﬁg§ SHOVELIN
€5:3063010 700 TGSEOTT 0D

erdd

s -1

JIBE — 21 T etioardEe TrTe OB esiow

33)_ SN aRloN IS e‘é(@\d@

B 0SB0,

(A) 0% -1 508010 IO -2 B PO
(B) 28510060058, JD0E-2 HOCIHO 59O
(©)
(D)

D) J2051, IDHE-2 Do HDOAIHO 595

JROE-1 DO T, IDOE-2 HOALBE

Der 58 OO 2.8 S
A) 380 SHEbo

B
C
D) esigreoss Saaso

E0agio 8 SR aobo
EaSIanEverte

(A)
(B)
(C)
(D)

e g (3500 DIBINTEo eBHE Teas®,
528 §°6 58 0fFren 1o SHgH0 eSO
A) 5598755

B) a5y arss

(A)
(B)
(C) esogro erd
(D)

D) 550),¢30h 87555

508 SRES" &od IIBINTE Fo0
VH00H0D B eI HOD FHodo Bt Ao
DT

(A) 2225758 HoXTee0
A

[
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18.

19.

20.

21,

In this strategy, a company produces a
high quality product and charges a lower
price

(A) Good-value strategy

(B) Overcharging strategy

(C) Economy strategy

(D) Premium strategy

A company’s total marketing
communication programme is called

(A) Communication Mix

(B) Marketing Mix

(C) Advertising Mix

(D) Promotion Mix

The process of evaluating each market
segment’s attractiveness and selecting

one or more segments to enter is known
as

(A) Micro marketing
(B) Market positioning
(C) Market targeting
(D) Market evaluation

Match the following PLC-stages with the
objectives of the marketer during those
stages:

i. Introduction a. Toimprove
profit while
defending

market share

To improve
sales

To create
awareness
among
customers

To milk the
brand

ii. Growth b.

iii. Maturity C.

iv. Decline d.

A) i-b, ii-a, iii-d, iv-c
B) i-a, ii-b, iii-c, iv-d
C) i-c, ii-b, iii-a, iv-d

(
(
(
(D) i-d, ii-a, iii-b, iv-c

18.

19.

20.

21,

B3 o8 S0l wE e Ko DIHO
BHOIPE W BHENH (T &80 B00d :

(A) &80 e Frgro

(B) e6sore o0 D0 igaro

(C) ey rgro

(D) ©waibo Frgso

FoW M), DYoo I 30k VST
SCEGEITRY) @ DEGOTT 20T ?

(A) 55578 oS00

(B) %5°3),e30h doigoo

(C) @Cioggeéog 00

(D) @feeyse Qoiisoo

B 507365 g essTen #59 Do) e.sed B
TOLE EFTTPORD (EB00eTIS AR BIdato &2
DESOTT DLOTED

(A) 57§, 5070 e30h

(B) 50°0y,e5

(C) 55°0),e5 erBedoh

(D) 557365520

52 &% PLC &S0k esair Ssed’ QIO 80

OFEODRVO0D BHWOKHIHD

. BODONBL A BT, T
30080t ereTedd
D0SOHBEBE

ii. 90 b. esoSren DoCIHRHEHe

jii. RWPBSID €. PO IEED0
DyRetoes

V. &M d. oo SHEBaTo

A) i-b, ii-a, iii-d, iv-c
B) i-a, ii-b, iii-c, iv-d
C) i-c, ii-b, iii-a, iv-d

(
(
(
(D) i-d, ii-a, iii-b, iv-c

(mx

A-03-03




22. Match the following :

23.

24,

i. Social marketing  a.

ii. Network marketing b.

iii. M-Commerce

iv. Consumer details d.

) -d

Facebook

Protect the girl
child

c. WAP
KYC

, ii-c, iii-b, iv-a

C) i-a, ii-b, iii-c, iv-d
D) i-b, ii-a, iii-c, iv-d

Assertion (A) :

Reason (R) :

(A
(B) i-c, ii-b, iii-a, iv-d
(
(

Every marketer wants to
enter into growth stage
of PLC as early as
possible.

They can reduce fixed
cost of production.

(A) Ais correct and R is the correct
explanation of A

(B) A is correct but R is not the correct
explanation of A

(C) Aistrue but R is false
(D) Ais false but R is true

Assertion (A) :

Reason (R) :

POP promotions are
undertaken to attract
traffic at retail store.

They increase dealers’
loyalty to sell more.

(A) Ais correct, but R is wrong
(B) Both A and R are correct
(C) Ais wrong but R is correct
(

D) Both A and R are wrong

22.

23.

24,

OIBI0D0 -

Q
,&Ab
om
&
um

i ey 5700300

O
6

£X
£
£
&

ii. Re508), 55°8),e30h

i, M550 c.

V. DIABFRTED ddoeey d. KYC

(A) i-d, ii-c, iii-b, iv-a
(B) i-c, ii-b, iii-a, iv-d
(C) i-a, ii-b, iii-c, iv-d
(D) i-b, ii-a, iii-c, iv-d

QYBTEEID (A) 1 (15 570,080 98 B5E”
PLC )8 ¢5:0 Dol

SBID

T &G RO HgOIreR
BROBHEIN

A) ADBCAHIG 208k R, A 55 0500308 568

B) AR08 50 R, A S 508000 JX568 3°¢0

C) A 5063056 20 R 580080 2

(A)
(B)
(©)
(D) A 580056 5260 529 R 000056

QR0 (A) 1 POP (@amysrsree D98
EOTETD D¢ T

550050625 EIBTAID
Toess (R) 1 & d) 0 esaneotd ol
DTGP WO
A) A 5BE56 529 R 5056 520
B) A, R, Qo 083
C) A 06356 5260 50 R $063056

(
(
(
(D) A, RBocir $06o 559

)
)
)
)

[
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25. Assertion (A): Leaders do not try to 25. 230mEpe0 (A) 1 Trolsden, S0

form and serve super AR08 BATE
segments. DONHE, DA

Reason (R): Leaders want to a0 (R) : TOHELO DI, €20 TETED
improve market share. 255 DOSeSeE s T

(A) Alis correct but R is wrong (A) A 506056 59 R 500156 S5

(C) Both A and R are correct (C) A, RBoc> $0aisd

(D) Both A and R are wrong (D) A, ROocr 580305 5°9)

26. ‘We sell confidence’ is the advertising | 26. ‘Qos0 DS BEHTO" @ @g@m%ng
caption used by a toothpaste marketer. To o0& 6355 SREOTTD ODPROTED. 3O 54
which concept does this ad belong to : 8KS m«)(&) 5020002560
(A) Selling (.:oncept (A) eioms e
(B) Production concept (B) 5y 755
(C) Product concept el
(D) Marketing concept (C) ettyd 59 g7

D) x5°0) ¢30h 75
27. Match the following : D) pEenE”

Part (A) Part (B) 27. 5500 773 23BBBW0R00

(Years) 5 (A) >G (B)

a. 1907 1. Factory labour (Sesores)
commission a. 1907 1. 7750 mw%e

b. 1860 2. Employer’s and W3S
Workmen’s b. 1860 2. 0300,
(Disputes) Act 570,500

c. 1890 3. The Bombay (Jere) B0
Mill Hands c. 1890 3. Foeran W
Association S0l RIS

d. 1922 4. Socio Service d. 1922 4. 3509035"@”683
League in g
Bombay 3650 &R

Code: a b ¢ d £&: a b ¢ d

(A) 1 3 2 4 (A) 1 3 2 4

® 1 2 3 4 B 1 2 3 4

) 1 4 2 3 ) 1 4 2 3

(D) 4 3 2 1 (D) 4 3 2 1

[ A-03-03|




28. The National Commission on Labour | 28. %o 2 erdab Eoms &5 T 5091000
submitted its report in the year VR Nele)
(A) 1969 (B) 1970 (A) 1969 (B) 1970
(C) 1989 (D) None of these (C) 1989 (D) 2=
29. When was the Contract Labour “ “
. > 29. sPoEryy @Y (B8RS, JFDRS) Hegon
(Regulation Abolition) Act was passed ? B et BSOS
(A) 1970 (B) 1960 (A) 1970 (B) 1960
(C) 1965 (D) 1980 (C) 1965 (D) 1980
30. Emphasis has been shifted to human -
resource development in the year 30. ?5;5‘5?560@ WD D) TPV IoYS
) O
(A) 1995 (B) 1965 =
(A) 1995 (B) 1965
(C) 1970 (D) 1960
e (C) 1970 (D) 1960
31. Job specification covers B o SomEE ol )
. BT A0 €0
1. Education ARGt J
2. Judgment 1. 25
3. Physical skills 2. 50803
4. Experience 3. TS PVER0
5. Initiative 4. eRogio
6. Responsibilities o, JES
Codes : 6. ergBen
(A) 1,2,3 4and5 8%, :
(B) 2,3,4and 6 (A) 1,2, 83,4580 5
(C) 1,2,3,4,5and 6 (((E;; ?’Z’;‘éf;mf‘ 3
, 2,3, 4, 550000
(D) 4,5and 6 (D) 4, 555005 6
32. Unemployment compensation is paid to £ s
the worker as a modest income to reduce | 32 VSET DODEH0 F0IS Be Q0D &S
the hardships of not having SR BROWIEI BID eSTO0HNT DOIED
(A) Job (B) Enforcement (A) ey (B) estoen
(C) Records (D) All of these (C) e (D) 259050
33. Human resource development is an | 33, &: 6103 Dodeo EoEYD IS DT
effective way to meet several challenges DT 062> S 5550 DN &5 PO
faced by most large “ ® -
oacge?
(A) Organizations (B) Firms (A) sgsise0 (B) soses
. @ @
(C) Companies (D) All of these (C) Sowdes (D) e
[ES 10 A-03-03|




34.

35.

36.

37.

38.

39.

“Human relations approach or theory” to
management was originated by

(A) F.W.Taylor (B) Henry Fayol
(C) PeterF.Drucker (D) Elton Mayo
Sensitivity training

(A) Usually involves 2 or 3 participations
(B) Generally has a structured agenda
(C) Focuses primarily on decision making
(D) Is used frequently in practice
Dexterity tests are used to judge the

(A) Proficiency of the candidate

(B) Training of the candidate

(C) Physical movements of the candidates
(D) None of the above

Incentive plan of wages payment can be
introduced when

(A) Work can be standardized

(B) Work is of easy repetitive nature
(C) Work is of easy nature

(D) None of the above

Worker committees are formed where
(A) More than 50 workers are employed
(B) 100 or more workers are employed
(C) More than 20 workers are employed
(D) None of the above

All but which of the following should be
carefully considered before using the
socio-technical approach to job design ?

(A) The role of each employee in the
socio-technical system

(B) Number of the people in the work
group
(C) The autonomy of the work group

(D) None of the above

34

35.

36.

37.

38.

39.

- ATGEIEIED DIV DB DRI CHFE[ S
?oc%"oézﬁaoé& ZQ)J"@ZS§

(A) F.W. &ob
(C) 28 F. 55,6

(B) @ pairS
(D) 2gS o>

mfi)&éé 35E3

JTrSeon 2, 3 K\FCSCQ ZEORH0 0008
TTEEAOTT® SO LIBOTT® €:0L2008
é’)c?@a)/osﬁoo B0 S 0LE0 séoogp?som
EYTBR0

(D) 5155828’ HEDMT FEOTED

(A)
(B)
(C)

D:e8 $0ZR0 B BeE BeIE T
(A) @250 S50

(B) w50 356

(C) weitho edE 5650500

(D) 33257

8T PERrsess S HosGHnd” B9
LR

(A) 329 Fruredssessos DO

(B) 5080 So8e Qdowegiorr Sy Do Ko B
(C) Dovgy dgersonie D5

(D) 33257

Bs BROD X)OCSCSED;SJJ@SS (GRROSESIO) e300
GOCESEN0

(A) 50 5063 %) 55 &l 5N

(B) 1005°0 es0® $0€3 %055 € 5rOooyaca
(C) 20 5063 250 6§00y

(D) 33257

5T esB)B8, TRIEE- T Sor edArNoD
$200650 2863 BT e ededd ey
NG BROTEHWy

(A) F3rRsIc3SE 0SS &E'h

(B) 2350 350755008 95500 oy
(C) =
(D)

S

2L

T8 BT R50K00 T
D) 23 5%
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40.

41.

42.

In which training is the worker trained in
the course of his work ?

(A) Vestibule training

(B) On the job training

(C) Apprenticeship training

(D) None of the above

Policies for a successful compensation

system, must address which of the
following issues ?

(A) Style and quality leadership

(B) Social relationship

(C) Intrinsic job interest

(D) Perceive long term opportunities

Match the following :

(A) (Management thinkers) (B) (Books)

a. Elizabeth M.Kaplan 1. Interpersonal

40. 5+ BB I DESE” SHE 5 DOLOWONINC

41.

BE FrocoTread
(A) 265500 B
(B) 2% 35>

(C) (03000 85e
(D) 330 5%

OO BETSES T G OIOD SOTOR0
20K &89

(A) TOX0EE; 3O, Treag®
(B) or507e2E 5023065500
(C) T8 el esidd
(D)

D) &Fso s (reads

42, BHHS0R0 !

(A) (50(55?@85" @@b@éiﬁo@o) (B) (Lﬁoqﬁm)

a. Elizabeth M.Kaplan 1. Interpersonal

and Emery L.Cowen  helping and Emery L.Cowen  helping
behavior of behavior of
industrial industrial
foremen foremen
b. James A. Behoblar 2. Making b. James A. Behoblar 2. Making
and Paul O. Popp Employee and Paul O. Popp Employee
Discipline Work Discipline Work
c. Wiliam B.Werther 3. Productivity c. William B.Werther 3. Productivity
Improvement Improvement
through people through people
d. Marthen G 4 litv of Work d. Marthen Glenn 4. Quality of Work
. Marthen Glenn . Qua ity of Wor Cox and Jame Life
Code: a b ¢ d $: a b c d
A 1 2 3 4 A 1 2 3 4
® 2 3 1 4 B 2 3 1 4
C 3 1 2 4 © 3 1 2 4
D) 4 3 1 2 b 4 3 1 2
[ES 12 A-03-03|




43.

44,

45.

The Global Managers
must develop systems
and policies that
address floor price,
ceiling price and
optimum price.

Assertion (A) :

The Global Managers
must be in line with
global opportunities
and constraints.

(A) A and R both are incorrect

(B) A and R both are correct and R is the
right explanation of A

(C) A and R both are correct but R is not
the right explanation of A

Reason (R) :

(D) A'is correct but R is not the right
explanation of A

Under rate system, exchange
rate of currency of a country is determined
entirely by market forces such as demand
and supply.

(A) Managed Floating

(B) Pure Floating

(C) Pegging

(D) Basket floating

The main disadvantage of Franchising is
(A) Loss of control

(B) Loss of Trade Mark

(C) Loss of identity

(D) Loss of Market

43.

44,

45.

QBT E0 (A) 1 (00 ATIeaTTToen, EIX

G55, MBRGSE BR00DBEEOR
SHNE" &oWE ATl
DBV BOITPEHDATTE.

e (R) - (B0 ABFIPEITEI00

5550 eSSk IS e
SHE" EETD.
(A) A, RBocr 003059 %9
(B) A, R o> $06080 A dioo), 0OG300
D3¢ R
(C) A, Rocir 50635 A Gno); 00350 85
R ¢
(D) A 200050 520 A Goo¥), $0CH JBHe
R =0

B9 B0 B DSSE” 2.8 T8 K0 Beanido o
5570),20, AT, 239000050 2063 TR0

(A) o Peoh

(B) 5t Fedoh

(C) hom

(D) o Fedoh

roRe0ME" B0 555

(A) dadoer 85 e

(B) 255 Dm0 S 6N

(C) /80 &5 FHe

(D) 5500 88 Py
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46

47

48.

. Assertion (A) : A currency is worth for

whatever it will buy

Reason (R) : An American firm
purchasing electronic
products from Japan
must first exchange

US dollars for Japanese

Yen and then
purchase the products.

(A) Only Ais correct
(B) Only R is correct

(C) Both A and R are correct and R is the
correct explanation of A

(D) Ris not correct

. Match the following :
Special Economic Zone Locations

1. Kandla a. West Bengal
2. Santa Cruz b. Gujarat

3. Falta c. Maharashtra
4. Noida d. Uttar Pradesh
(A) 1-a,2-b, 3-c, 4-d

(B) 1-c,2-b, 3-d, 4-a

(C) 1-d,2-c, 3-a,4-b

(D) 1-b, 2-c, 3-a, 4-d

Pegging the value of a currency can be
done by

(A) Pegging to a major currency
(B)
(C)
(D)

Pegging to a basket of currencies
Pegging to SDR
Pegging all the above

46

47

48.

. AhoTE (A) -

£ JoBERNOE o
DOIPHE

e (R) - eu¥ 20080 [0 et
Wloler DOFI Do
E7R0L0E0 a0¢3e BD

IOEL TP esa)o

oS
(A) A STBE0 DOCBE
(B) R SrEdo 0003008
(C) A, RBocr £0absa R, A @oo), 0G0
B

(D) R 5003056 S°¢

. EIBRSBOR0 !
B DY Soodiered &3
1. o a. &Bs 8o
2. 3oz (55 b. resoed
3. e C. ST
4. S d. &BEE0E
(A) 1-a, 2-b, 3-c, 4-d
(B) 1-c, 2-b, 3-d, 4-a
(C) 1-d,2-c, 3-a,4-b
(D) 1-b, 2-c, 3-a, 4-d
530 o ROEOowoe

(A) Soesth SONE H080oWHLNH
(B) £ Hons H08BoEHEyw
(C)

(D) 3 esed& H05BoHHLN

SDR & %5500w5tay%

[
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49.

50.

Find out from the following Long-term
factors which determine the Exchange
Rates

i. Balance of payment
ii. Interestrate

iii. Inflation

iv. Political environment

A) Bothiandiv

(

(B) ii, iii and iv

(C) i, ii, iii and iv

(D) i, ii and iii

Assertion (A) : The global market
provides larger
opportunity to increase
the sales of company
than the indigenous
market.

Reason (R) : Multination firms like

Microsoft, IBM, Infosys,
Gillette, P & G, etc., are
doing lot of business not
only in India but all the
world countries.

(A) Only R is correct

(B) Only Ais incorrect

(C) Both A and R are incorrect

(D) A and R are correct and R is the
correct explanation of A

49.

50.

Bs OO BYSe @o¥E5008" DB Beao
Veletbienvivie)

. Do Jog

ii. 5¢ Be

iii. @558?3@2383;633
iv. Tresdad SorgsSEsin

(A) i 508050 iV B>

(C) 1, i, i H060X» iv

(D) i, ii 2080%w iii

QRBTEEI0D (A) 1 5020 BIAD 50,0506
LIDRF O NBIGWIS

%)

0D S0 0 DL
WITBO 00

soEeaos (R) : 0 38> Dogen

ao: pER, IBM,
350, A8e5, P & G
F05037E D o8
BR0URTONIE” HO)D
TGP0 LRG0
(A) R 55Eo 0003008
(B) A 5B 90605
(C) A, R0 30a8d
(D)

D) A, R Botir 58a159 A clol, $6a1s
D3¢ R
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51. Assertion (A): Global Political Risk 51. oS (A) 1 S50 oresdon SReIoh
Index is a unique B9, Tresda SRS
methodology that A 30
measures a country’s 20080050 0F 077 sy
ability to absorb B 0D 95T S5
political risks. pOm ST
Reason (R) : This index provides a e (R) - et (@te (B9,
unique look at the \
present and future PGS YT QA S
ﬁ(r)c;?gectsforlnvestment 5D By B0
(A) Only A is correct (A) A w@é\) ?\/)603;\35@
(C) Both A and R are incorrect (C) A, RBoc> 5063059 5°%5)
(D) Both A and R are correct but R is not (D) A, R Bocr 200030dn A cln), 006300
the correct explanation of A Iz R ¢
52. Match the following : 52, 2HVGWHR
List-1 List-I el ool
(Trade Blocks) (Established in the Year) (85 eoe) ((SROSRRENENSS))
1. B8 Do a. 1960
1. North American a. 1960 5
Free Trade Area ) DG (B%0
2. Southern Common b. 1996 2. &58er TRTR S0 5 b. 1996
Market 3. cioBa0iss B8 c. 1991
3. The Andean c. 1991
Community 4. ol &R0 TRy 5705 d. 1994
4. Central American d. 1994 (A) 1-a,2-b, 3-c, 4-d
Common Market (B) 1-d, 2-c, 3-b, 4-a
(A) 1-a,2-b, 3-c, 4-d
(C) 1-b,2-a, 3-d, 4-c
(B) 1-d, 2-c, 3-b, 4-a
(C) 1-b, 2-a, 3-d, 4-c (D) 1-c,2-d, 3-a,4-b
(D) 1-c,2-d, 3-a,4-b
_ _ 53. D T00c SB0TT0 S5 e
53. An attribute that doesn’t contribute to ‘"’
Porter's Diamond Model is (A) Keds50
(A) Government (B) Aced 35838000
(B) Demand conditions (C) =5 2805000
g @
(C) Factor conditions (D) 55535:>§bg§m30i>5
(D) Organized Trade Union
[ES 16 A-03-03|




54.

55.

56.

57.

Which of the following is not the dimension
of cross-cultural study of Hofstede ?

(A) Individualism

(B) Masculinity

(C) Power distance index
(D) Performance Orientation
Match the following :

List A
(Cultural Dimensions)

List B
(Focal Point)

1. Power Distance a. Degree of
Index equality or
in equality
2. Individualism b. Individual or
collective
achievement
3. Masculinity c. Level of
Tolerance

Model of male
achievement

4. Uncertainty avoidance d.
index

1-a, 2-b, 3-c, 4-d
1-b, 2-c, 3-d, 4-a
1-a, 2-b,3-d, 4-c
1-d, 2-c, 3-b,4-a

(A)
(B)
(C)
(D)
The extent of cross-border geographical
diversification of a firm is indicated by
(A) Transnationality Index

(B) Network Spread Index
(C)
(D)

D) Geographical spread Index

Internationalization Index

Loss in Business or profession cannot be
clubbed with

(A) Income from House Property
(B) Capital Gains
(C) Salary
(

D) Income from other sources

54.

55.

56.

57.

Hofstede c3oo%), Jeath o8 exskonikod” 5+
Q% @0BB00 8 DOBTEIN T
(A) 55355500
(B) dongssn
(C) %8 5750 3d
(D) estdser BF0Er0
23R !
S - A S - B
(Bopouoirenn)  (Woopg Do)
1. 3 &rE8rd a. DXHB -
IR0
BOBTEII0

2. 5355000 b. ééégi)@mi?g
3_065(0%

3. HEoDBE0 C. X%
BOBTEII0

4. @B > IrD d. PWRTERS
OROT°0°

(A) 1-a, 2-b, 3-c, 4-d

(B) 1-b,2-c, 3-d, 4-a

(C) 1-a,2-b,3-d, 4-c

(D) 1-d, 2-c, 3-b,4-a

2.5 0050 ETR9E D5t HO:3¢0 PG5 B0
KIPDOHE

(A) Transnationality Index

(B) Network Spread Index

(C) Internationalization Index
(D) Geographical spread Index

TG S S Sood k) & QoS eoios
SOBETCESD

(A) 75 &5 Soocs et
(B)
(C) fso

(D) 388 55800 2006 esteabo

TP ePeTPe)

(mx
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58.

59.

60.

The following are rounded off to nearest
Rs.10/-

(A) Tax Payable

(B) Total Income

(C) Tax Payable and Total Income
(D) Tax Refundable

Tax payable depends on

(A) Total income

(B) Residential status

(C) Individual or firm

(D) Type of assessee

In the hands of shareholders, dividend
income is

(A) Taxed at 10%

(B) Taxed at 15%

(C) Not taxable

(D) Added to total income

58.

59.

60.

s OI0D oTe 5,108 &I 25BobGERa
(A) DOOLHORD B

(B) w080 estravo

(C) Do B8y, 080 estraio

(D) 7050 DADHOD H5

5552 QPO B P SEIG 0008
(A) 2080 esmraidHw

(B) BhE 00828

(C) 558 S d0y

(D) e 5550

TRTTE0 DAHS° GATOC eSTONHH0 P
(A) 10780 359 2doTd

(B) 15780 359 2dowd

(C) %9 dQoBecsesd

(D) 2080 esmeaiirdS S005deaciodoody

. 61. Trero ©00,50 2 D19y STPAKRN
61. Income arising from sale of shares = 5o _
(A) is exempt provided STT is paid (A) STTDYoUTS 589 AP0
(B) is exempt provided STT is paid and (B) STT2000, 2.5:01150 €00k BE5as o
held for 1 year 30y OB
(C) is exempt provided held for 12 months (C) 12 Jooo &odd HSoTH 8B HIY
(D) is added to total income DEOBRIEESS
D) 2008 QI8 ZudHTto
62. Match the following as per Income Tax Act. D) 20 il
) 62. e300 QA9 WEIO [T 23BIST[0.
a. Section 80 C 1. Arrears of ©
salary a. g 80C 1. oo 23520000

b. Section 17 (1) 2. HRA b. 2550 17 (1) 2. HRA
c. Section 10 (13A) 3. Salary C. g0 10 (13A) 3. &%o
d. Section 89 4. PPF d. 25089 4. PPF
A) 4 3 2 1 A 4 3 2 1
B 1 2 3 4 B 1 2 3 4
€ 3 4 1 2 C) 3 4 1 2
by 1+ 2 4 3 M) 1 2 4 3
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63.

64.

65.

Net annual value of House Property will

be negative when
(A) Gross Annual Value is negative

(B) Municipal taxes are less than gross

annual value
(C) There are no Municipal Taxes

(D) Municipal Taxes exceed Gross

Annual Value

WDV arises in the case of

(A) Fixed Assets

(B) Intangible Assets

(C) Depreciable Assets

(D) None of the above

Raju purchased goods worth Rs. 30,000,
against one Bill but made payments of

Rs. 18,000, Rs. 12,000 at different times

on the same day

(A) Rs. 18,000 is allowed as expenditure
(B) Rs. 12,000 is allowed as expenditure
(C) Rs. 30,000 is allowed as expenditure

(D) Nothing is allowed as expenditure

63.

64.

65.

MY ey Bood DIT T Jeod B3 Hotsos’

BOETE T
(A) 3T0 T°0F Jeokd w0eTEEHw

(B) 2020558 S0 270 0% Dewtd $083 S5
(C) 50020 5592089

(D) 2700708 e S0 5ndd Siige @650

59300 Bocsged” WDV éoeaod

(A) 8 esidoen

(B) )B30u8d esdyeo

(C) &torse &ots esiyen

(D) 332 57

orew 5. 30,000 550500 22 e 59, & Eer

DA DSoavred® 8. 18,000, 5.12,000

Do

(A) &, 18,000 &y 0850807
(B) &or. 12,000 &y es:05080°5
(C) . 30,000 &y 950508076

(D) D& ST es:80[080WD
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RO
66. For the purpose of capital gain the 66. 20700 Creresd So BIDD 0FH0 [oTPOES &)
following is not a capital asset 20

(A) Personal jewellery (A) 55309 Siveo

(B) Paintings (B) 2ooo0edony

(C) Gold deposit bonds (C) eomdo cretn erocy
(D) Drawings (D) BSgres
67. Match the following : 67. 28JCW0Rw
a. Cost of Acquisition 1. Nil a. B8go 5000 1. %50
b. Long term capital 2. Held for b. &gste S0 ey 2. 10 dow
asset 10 months 008 ®
c. Short term listed 3. Held for 36 C. Q5o @?g(ib@?g@ég 3. 36 oo
security months 0085
d. Cost of Bonus shares 4. Inflation d. %550 Trere S5a00 4. ES@e
index N
a b ¢ d a b ¢ d
A 4 3 2 1 A 4 3 2 1
B 1 2 3 4 B 1 2 3 4
(C 2 3 4 1 C) 2 3 4 1
(D) 3 4 1 2 (D) 3 4 1 2

68. For AY 2014-15 the following amount is | 68. 2014-15 AY & 58S 5¢ OALS SRow
allowed as deduction in case of individual. SeEEB0B.
(A) Rs. 1,00,000 under Section 80 C (A) 255 80 C &ocs 6. 1,00,000

(B) Rs. 50,000 Insurance Premium
Rs. 60,000 PF

(B) 5.50,000 £)55° S000 55°.60,000 2.25.

(C) &.1,20,000 H5 Sk
(C) Rs.1,20,000 Insurance Premium
_ (D) &=.1,50,000 255 80 C (&ocs
(D) Rs.1,50,000 under Section 80 C

[ 20 A-03-03|




69. Maitch the following :

a. Zero coupon bond 1. Income
from other
sources

b. Interest on securities 2. Tax paid at
15%

c. Dividend distributed 3. Amount
received at
maturity

d. Grossing up interest 4. 8% saving
(Taxable)
bonds

a b ¢ d

(A) 1 2 38 4

B) 3 1 2 4

(C) 4 3 2 1

(D) 2 4 3 1

70. Anil has paid during 2013-14 Educational

71.

Loan Instalment of Rs. 55,000 and interest
of Rs. 70,000. He is entitled for a
deduction under Section 80 E.

(A) Rs. 55,000 (B) Rs. 70,000
(C) Rs. 1,25,000 (D) Nil
PAN is compulsory in the case of

(A) Sale of immovable property of
Rs. 5 lakhs

(B) Cash deposit of Rs. 50,000 in Post
Office Saving Bank

(C) Purchase of securities exceeding
Rs.1,00,000

(D) All the above

69.

70.

71.

IOV LE

a. &6 0 erodsd 1. 3BS S5
006
€3T°P0N0R0

b. 2xrgede 29 2. 15 750 15y
DO

C. %063 @0s ST 3. IRTHD
B500%008° %0
525008

d. ¢ 3rdsse 4. 870 oM
(555 260D)
wocfg

a b ¢ d

A1 2 3 4

B 3 1 2 4

C 4 3 2 1

M) 2 4 3 A1

2013-14 & S Jurg eoeasos 8. 55,000,
o) D B¢ &7, 70,000 Dowrcd. 2> 80 E

S0l 9IS B2 HIDD BROY &0t odD.
(A) &>.55,000 (B) &>.70,000

(C) 5.1,25000 (D) @0

PAN &5 805 06Tn08” 853000
(A) 2T 5950 6. S oFeo

@
P DAoM e SRSy BIe
&, 50,000

(C) &°.1,00,000 & 200 2ErgBedo Skofiten

(D) 2500
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72.

PARA PHRASING

Answer the questions 72-75 by reading the
following passage :

India is a country with more people and
less resources but to put India in
International map requires capital from
other countries in the form of foreign
currency, technology, capital equipments
and raw materials. These foreign
investments are of a few types.
Sometimes, the foreign investor to protect
his investment would like to take part in
the management. This can be achieved
through purchasing of certain percentage
of financial securities of the firm. If the
investor has no more interest to take part
in the management of the firm he can sell
the security in the market.

A foreign investor can also acquire an
established local firm and make the
acquired local firm a subsidiary business.
This type of investment generates cash
flow in the short run. But there are
investments which involve high amount of
risk and cost compared to acquisition but
creates a new facility in the host country.

Investment flows from other countries in
the form of foreign currency, capital
equipment is referred as :

(A) Capital investment
(B) Infrastructural investment

(C) Foreign Direct Investment

(D) International Investment

72.

2o (peeh

$00 D0 ©EIP0 B, T Gob (72-75)

(D80 232 JI50G.

EEEBCNEO e3TeT® DD, B0 HEN S Mo B¥o.
POBOTR) LOBTEAD $e08° &oerds 3B
70 500G BB ITCE0, FoEAY Hderdo,
[0 DOET® Ersod’ IO 99580, S
BB e §) Srred’ doeron. 89
2060036 SPUCE TS DB 2eedTd 5
T Gesd” EoeTead. SO ), a8 IGR
T8 @0 WEFPoss S50 oo B
TROBHY. 0P Arerd’ FewdotlT g
85 FonsBpcd e PETLdoss $5708),e56°
@B3050%50).

B 220G esaend’ ey DB Do €5
R T B 0P SEGOIHO DAY, 3ewoed
WA S0 Vyoy)sTeod’ D0PEHL SAWY
SFo00erra. Sy wenecien XS B,
€06 35BN 5080 WY H5000 A eoera.

©00B ASED wepad WEBFS £ Poy
DOTT0R.

RHE DT K506 JDB BIEE0, BOTOES DO
Srvo8® 5y DeRad PTitess B Ao
DT,

A
B
C
D

K0TS oaeaoao&
PRGNVl
fb% (628953 0eC
@oééc"eséoi) eperc

(A)
(B) &
(C) 2
(D)
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73.

74.

75.

Investment made to protect the interest of
the investors and to take part in the

management is called as

(A) Host country investment

(B) Portfolio investment

(C) Protection investment

(D) Risk investment

A cross border investment which enable
the host country firm to improve its
efficiency and enables the foreign

investors to acquire controlling interest of

the firm is known as

(A) Cross-border investment

(B) Inter-territorial investment

(C) Acquisition

(D) Horizontal investment

An investment which involves the

establishment of a new operation in the

host country is referred as

(A) Brown field investment
(B) Green valley investment
(C) Conglomerate investment

(D) Green Field Investment

73.

74.

75.
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